FEDERAL PUBLIC SERVICE COMMISSION Roll No.
COMPETITIVE EXAMINATION - 2018
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

ESSAY

TIME ALLOWED: THREE HOURS MAXIMUM MARKS: 100

NOTE: (i) Make an outline and write a COMPREHENSIVE ESSAY (2500-3000 words) on any ONE of the

given topics. Make sure you use different forms of discourses, e.g. exposition, argumentation,
description and narration. Credit will be given for organization, relevance and clarity.

(i1)) No Page/Space be left blank between the answer. All the blank pages of Answer Book must be
crossed.

10.

Real development should transform people’s lives, not just economic statistics.
Higher Education in Pakistan: Ills and Remedies.
Too many of us are not living our dreams because we are living our fears.

China — Pakistan Economic Corridor (CPEC) and its Socio-economic Implications for the
Region and the World.

Beware the barrenness of a busy life!
The Emerging Power of Social Media: Prospects and Problems.

In the fight against terrorism and corruption, it is imperative not to compromise human
rights and civil liberties.

The threat of Global Warming and the ways to counter it.
Will “Rule of law” always remain an impracticable myth in our country?

Democracy in Pakistan: Hopes and Hurdles.
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION - 2018 Roll Number

FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

ENGLISH (PRECIS & COMPOSITION)

TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-I(MCQS): MAXIMUM 30 MINUTES PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.

(ii) Attempt ALL questions from PART-II.

(iii) All the parts (if any) of each Question must be attempted at one place instead of at different places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.

(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must be crossed.
(vi) Extra attempt of any question or any part of the attempted question will not be considered.

Q.2.

Q.3.

PART-II

Write a précis of the following passage in about 120 words and also suggest a suitable title: (20)

It is in the temperate countries of northern Europe that the beneficial effects of cold are most manifest. A cold climate
seems to stimulate energy by acting as an obstacle. In the face of an insuperable obstacle our energies are numbed by
despair; the total absence of obstacles, on the other hand leaves no room for the exercise and training of energy; but a
struggle against difficulties that we have a fair hope of over-coming, calls into active operation all our powers. In like
manner, while intense cold numbs human energies, and a hot climate affords little motive for exertion, moderate cold
seems to have a bracing effect on the human race. In a moderately cold climate man is engaged in an arduous, but no
hopeless struggles and with the inclemency of the weather. He has to build strong houses and procure thick clothes to
keep himself warm. To supply fuel for his fires, he must hew down trees and dig coal out of the earth. In the open air,
unless he moves quickly, he will suffer pain from the biting wind. Finally, in order to replenish the expenditure of
bodily tissue caused by his necessary exertions, he has to procure for himself plenty of nourishing food.

Quite different is the lot of man in the tropics. In the neighbourhood of the equator there is little need of clothes or fire,
and it is possible with perfect comfort and no danger to health, to pass the livelong day stretched out on the bare ground
beneath the shade of a tree. A very little fruit or vegetable food is required to sustain life under such circumstances, and
that little can be obtained without much exertion from the bounteous earth.

We may recognize must the same difference between ourselves at different seasons of the year, as there is between
human nature in the tropics and in temperate climes. In hot weather we are generally languid and inclined to take life
easily; but when the cold season comes, we find that we are more inclined to vigorous exertion of our minds and
bodies.

Read the following passage carefully and answer the questions that follow: (20)

The third great defect of our civilization is that it does not know what to do with its knowledge. Science has given us
powers fit for the gods, yet we use them like small children. For example, we do not know how to manage our
machines. Machines were made to be man’s servants; yet he has grown so dependent on them that they are in a fair way
to become his master. Already most men spend most of their lives looking after and waiting upon machines. And the
machines are very stern masters. They must be fed with coal, and given petrol to drink, and oil to wash with, and they
must be kept at the right temperature. And if they do not get their meals when they expect them, they grow sulky and
refuse to work, or burst with rage, and blow up, and spread ruin and destruction all around them. So we have to wait
upon them very attentively and do all that we can to keep them in a good temper. Already we find it difficult either to
work or play without the machines, and a time may come when they will rule us altogether, just as we rule the animals.

And this brings me to the point at which I asked, “What do we do with all the time which the machines have saved for
us, and the new energy they have given us?”” On the whole, it must be admitted, we do very little. For the most part we
use our time and energy to make more and better machines; but more and better machines will only give us still more
time and still more energy, and what are we to do with them? The answer, I think, is that we should try to become mere
civilized. For the machines themselves, and the power which the machines have given us, are not civilization but aids to
civilization. But you will remember that we agreed at the beginning that being civilized meant making and linking
beautiful things. Thinking freely, and living rightly and maintaining justice equally between man and man. Man has a
better chance today to do these things than he ever had before; he has more time, more energy, less to fear and less to
fight against. If he will give his time and energy which his machines have won for him to making more beautiful things,
to finding out more and more about the universe, to removing the causes of quarrels between nations, to discovering
how to prevent poverty, then I think our civilization would undoubtedly be the greater, as it would be the most lasing
that there has ever been.

Questions: 1. Instead of making machines our servants the author says they have become our masters. In what sense

has this come about? @)

2. The use of machines has brought us more leisure and more energy. But the author says that this has
been a curse rather than a blessing. Why? @)

3. What exactly is the meaning of ‘civilization’? Do you agree with the author’s views? “)

4. ‘Making more beautiful things’ — what does this expression mean? Make a list of the beautiful things
that you would like to make and how you would make them. “)

5. Mention some plans you may have to prevent poverty in the world. Who would receive your most
particular attention, and why? “)
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ENGLISH (PRECIS & COMPOSITION)

Q. 4.

(a) Correct only FIVE of the following: (5)

(1) They only work when they have no money.

(i1) They left the hotel here they had been staying in a motor-car.

(iii) I cannot by no means allow you to do so.

(iv) My friend said he never remembered having read a more enjoyable book.

W) Going up the hill, an old temple was seen.

(vi) One day the bird did not perform certain tricks which had thought it to his satisfaction.

(vii) I was rather impressed by the manner of the orator than by his matter.

(viii))  What an awful weather!

(b) Use punctuation marks where needed in the following sentences: )

@) There is a slavery that no legislation can abolish the slavery of caste

(i1) All that I am all that I hope to be I owe to my angel mother.

(iii) Take away that bauble said Cromwell pointing to the mace which lay upon the table.

(iv) There is only one cure for the evils which newly acquired freedom produces and that cure is
freedom

) History it has been said is the essence of innumerable biographies.

(a) Fill the following blanks (any FIVE) appropriate preposition. 5)

(1) a Ford he has a Fiat car
(a) in (b) before (c) besides (d) despite

(i1) I saw him felling a big tree a hatchet.

(a) with (b) through (c) by (d) at

(iii) I must start dawn to reach the station in time.

(a) on (b) at (c) by (d) after

(iv) I have known him a long time.

(a) since (b) from (c) for (d) over

) “Will you walk my parlour?”

(a) in (b) to (c) by (d) into

(vi) The public are cautioned pickpockets.

(a) against (b) about (c) of (d) for
(b) Rewrite the following dialogue, written in direct speech, in a paragraph form. )

Jack:  Hello, Swarup! Swatting away as usual. Come out, man; shut up your old books, and come and
have a game of tennis.

Swarup: I am sorry I cannot do that, Jack. The examination is drawing near, and I want every hour I can get
for study.

Jack:  Oh! Hang all examinations! I do not worry about mine. What is the use of them, any way?

Swarup: Well, you can’t get a degree if you don’t pass the examination; and I have set my heart on being a
graduate.

Jack:  And pray what good will graduation do you? You may get a clerkship in a government office; but
that’s all, and there are hundreds of fellows who have got their degrees, and are no nearer getting
jobs of any sort.

Swarup: That may be so; but [ am not studying so much to pass my examination and obtain my degree, as to
store my mind with knowledge and develop my intellectual faculties.

(a) Explain the difference between the following word pairs (Any FIVE) by using each word in your

own sentences: (5)

(1) Callous, Callus (i1) Born, Borne (ii1) Faint, Feint (iv) Dinghy, Dingy

(v) Lose, Loose (vi) Waiver, Waver (vii) Shear, Sheer (viii) Resister, Resistor

(b) Use ONLY FIVE of the following in sentences which illustrate their meaning: (5)

(i) Show and tell (ii) Helter-skelter (iii) To the death (iv) Tilt at windmills

(v) Het up (vi) The whole ball of wax (vii) It’s about time (viii) Punch-up

Translate the following Urdu paragraph into English by keeping in view figurative/idiomatic

expressions. (10)
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FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION-2018
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

Roll Number

GENERAL KNOWLEDGE-I
(GENERAL SCIENCE & ABILITY)

TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-IMCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i)
(i) Attempt Only FOUR questions from Part II, by selecting TWO questions from EACH

(iii) All the parts (if any) of each Question must be attempted at one place instead of at different

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.

(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must

(vi) Extra attempt of any question or any part of the attempted question will not be considered.

Part-II is to be attempted on the separate Answer Book.
SECTION. All questions carry Equal marks.

places.

be crossed.

(vii) Use of Calculator is NOT allowed.

Q. No. 2.

Q. No. 3.

Q. No. 4.

Q. No. 5.

PART-II
SECTION-I

(A). Describe different methods to estimate the age of the Universe. (5)

(B). Explain the formation of Lunar Eclipse. 5)

(C). Explain the terms Dark Energy and Dark Matter. 5)

(D). Define the term Black Hole. What’s expected inside it? 3 o0

(A). Describe different causes and preventions of ‘Polio’ S

(B). Define the term ‘Bio-Fuel’. How is it helpful to promote clean energy? 5

(C). Define ‘Carbohydrates’. Describe different steps to digest these in the human (5)
body.

(D). Describe the ‘Cell Structure’. Write down at least three differences between an (5) (20)
animal cell and plant cell.

(A). What is ‘Acid Rain’.Describe its causes and how it can be prevented? &)

(B). What is ‘Water Pollution’. Discuss its causes and measurement methods. Name (5)
the countries with the highest and lowest percentage of it.

(C). Write a comprehensive note on ‘Smog’. 5

(D). Describe different causes of ‘Tsunami’. Is there any difference between a (5) (20)
Tsunami and a tidal wave? Name the worst Tsunami ever recorded.

(A). Write a note, how data is stored on a ‘Hard Disk’. 5)

(B). How an ‘Optical Fiber’ is constructed? How is it helpful in transmitting the (5)
electromagnetic radiations?

(C). Write a comprehensive note on ‘Balanced Diet’. 5)

(D). What is ‘Artificial Intelligence’? How is it helpful for humanity? 3 0
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GENERAL KNOWLEDGE-I (GENERAL SCIENCE & ABILITY)

Q. No. 6.

Q. No. 7.

Q. No. 8.

SECTION-II

(A). It takes 3 liters of paint to cover an area of 24 square meters. What percentage )
increase in the quantity of paint would be required to cover an area of 50.4 square
meters?

(B). An automobile travels 3 km towards south, 4 km towards west, 5 km towards north 5)
and 2 km towards south-east. How far is it from its starting position?

(C). Tahir started a business with a capital of Rs. 15,000. After 5 months Umar also joined (5)
him with an investment of Rs. 30,000. At the start of 9" month, Usman joined them
by investing Rs. 45,000. At the end of the year they earned a profit of Rs. 406,000.

Find the share of each one.

(D). A man left his property of Rs. 640,000. A debt of Rs. 40,000 was due to him and Rs. (5) (20)
5,000 was spent on his burial. Distribute the amount between his widow, one
daughter and two sons according to the Islamic Law.

The breakdown of average monthly expenditure for a family is given in the following

Figure:

(A). Calculate from the figure what percentage of the family’s expenditure is on ‘other *? (5)

(B). Approximately what fraction of the )
family’s monthly expenditure do’ -

‘utilities’, ‘rent’ and ‘food’ represent? W o

(C).If the family spends Rs.11600 on e \" ok ) 5)
utilities, how much is the family’s . wona” X ey 10%
total expenditure? f + Travel

(D).Other’ expenditure comprises savings, T e S e U 3 20
entertainment and luxury items, which N onadowe |
are spent in the ratio 3 : 4 : 1. Calculate | Local tax ~ | 15
how much the family saves each month T B,
if monthly income is Rs.24,000. e >

zo%

(A). Police officers are in pursuit of a stolen vehicle. Officer Baker is directly behind (5)

the stolen car. Officer Lopez is behind Baker; Officer O'Malley is behind Lopez.

Officer Reinhart is ahead of the stolen car and coming from the opposite direction.

Officer Reinhart makes a U-turn and joins the pursuit. He pulls in behind Officer

Lopez. Officer Baker pullsup on  the driver's side of the stolen vehicle and Officer

Lopez pulls up on the other side. Which officer is directly behind the vehicle?

(B). Define a Histogram. How is it constructed? What information may be deduced (5)
from it?

(C). Look at this series: F2, , D8, C16, B32, What number should fill the blank? )

(D). In a certain code language LANDMINE is written as PYRBQGRC. How will (5) (20)
HOMEMADE be written in that code language?
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FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION-2018
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

Roll Number

GENERAL KNOWLEDGE-II
(CURRENT AFFAIRS)

TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-I(MCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.

(ii) Attempt ONLY FOUR questions from PART-II. ALL questions carry EQUAL marks.

(iii) All the parts (if any) of each Question must be attempted at one place instead of at different
places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.

(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.

(vi) Extra attempt of any question or any part of the attempted question will not be considered.

PART-II

Q. No. 2. China-Pakistan Economic Corridor (CPEC) is considered as a game-changer. How the  (20)
CPEC can be helpful to uplift the Pakistan’s economy? Discuss.

Q. No. 3. Discuss in detail the Iran-Pakistan gas pipeline and challenges to it. (20)

Q. No. 4. How the United States is trying to keep its dominant position in the Asia-Pacific and  (20)

what is the China’s response to it?

Q. No. 5. Critically analyze the newly established Islamic Military Alliance and its future  (20)
implications for the Muslim World?

Q. No. 6. Describe the 2017 Qatar Diplomatic Crisis and its impact on the Middle East. (20)

Q. No. 7. Critically examine the Donald Trump’s Policy for South Asia and its implications for (20)
Pakistan and the region.

Q. No.8. What are the opportunities and challenges for Pakistan as one of the new members of  (20)
the Shanghai Cooperation Organization (SCO)?
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FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION-2018
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

Roll Number

GENERAL KNOWLEDGE-III
(PAKISTAN AFFAIRS)

TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-I(MCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.

(ii) Attempt ONLY FOUR questions from PART-II. ALL questions carry EQUAL marks.

(iii) All the parts (if any) of each Question must be attempted at one place instead of at different
places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.

(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.

(vi) Extra attempt of any question or any part of the attempted question will not be considered.

PART-I1

Q. No. 2. Critically evaluate the foundations of Allama Igbal’s concept of Muslim separatism in  (20)

the context of Indo-Pak Subcontinent.

Q.No.3. Discuss the 3" June Plan or Mountbatten Plan and also describe how it was  (20)

implemented?

Q. No. 4. Describe the political system of Pakistan. Which form of government is suitable to  (20)

make country politically stable?

Q. No. 5. Define non-state actors. ‘Non-state actors are posing more threat to Pakistan’s national  (20)

security than threats from external state actors.” Argue in favour or against.
Q. No. 6. Discuss the nature of centre-province relations under the 1973 Constitution. (20)
Q. No. 7. Discuss the changing trends in Pakistan- US relations since 2001. (20)

Q. No. 8. There is crisis of national integration in Pakistan since its creation. What measures do  (20)

you suggest for the promotion of national integration of Pakistan?
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FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION - 2018
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

ISLAMIC STUDIES

Roll Number

TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-IMCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.

(ii) Attempt FOUR questions from PART-II. ALL questions carry EQUAL marks.

(iii) All the parts (if any) of each Question must be attempted at one place instead of at different
places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.

(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.

(vi) Extra attempt of any question or any part of the attempted question will not be considered.

PART-II
Q. No. 2. Define [jtihad, also highlight its contemporary importance in the light of Islamic Figh. (20)

Q. No.3.  What is Self-purification and Ehsan? Explain it in the light of Quran and Sunnah, also (20)
describe its individual and collective impacts.

Q. No.4. Point out the motives of terrorism in Pakistan. How can the society get rid of (20)
terrorism?

Q. No. 5.  Highlight the responsibilities of civil servants in the light of Islamic teachings. (20)

Q.No. 6. Write a comprehensive note on Zakat system of Islam and its spiritual, moral and (20)
social impacts.

Q. No. 7.  Describe, in detail, the basic characteristics of Islamic civilization. (20)

Q. No. 8. The Holy Prophet (1) is the prophet of peace and safety. Explain with arguments. (20)

URDU VERSION
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(20)
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION-2018 Roll Number
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

ACCOUNTANCY AND AUDITING, PAPER-I

TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-I(MCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80
NOTE: (i) Part-II is to be attempted on the separate Answer Book.

(ii) Attempt ONLY FOUR questions from PART-II by selecting TWO questions from

(iii) All the parts (if any) of each Question must be attempted at one place instead of at different

EACH SECTION. ALL questions carry EQUAL marks.

places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.

)

No Page/Space be left blank between the answers. All the blank pages of Answer Book must

be crossed.

(vi) Extra attempt of any question or any part of the attempted question will not be considered.
(vii) Use of Calculator is allowed.

Q. No. 2.

Q. No. 3.

PART — 11
SECTION - A

Following is the summary of closing balances (unadjusted trial balance) of Muddasar Co. for the year
ended on December 31, 2016.

Accounts Amount (Rs.) Accounts Amount (Rs.)
Cash 80000 Accounts Receivable 35200
Store Supplies 5000 Prepaid Rent 11240
Furniture 7600 Accumulated Depreciation on Furniture 1520
Insurance 8500 Plant & Machinery 45000
Accumulated Dep. on Capital 165000
Plant & Machinery 9000 Drawings 31000
Accounts Payable 8500 Salaries Expenses 9500
Sales Revenue 212980 Purchases 95000
Advertising Expenses 7000 Purchase Returns 6500
Wages 10 000 Opening Merchandise Inventory 45000
Sales Returns 3000 Miscellaneous Expenses 5000
Commercial Expenses 5460

Additional Information (adjustments) needs settlements at the end of period to show the true picture
of the financial performance of Co.

I. Closing Merchandise Inventory valued at Rs. 35 000

ii.  Store supplies on hand at the end of year is Rs. 1500

iii. It is noticed that Prepaid Rent amounting Rs. 9240 was expired during the period

iv.  Prepaid Insurance is valued Rs. 1500 at the end of the period

v. Outstanding salaries are Rs. 3000

vi.  Depreciation is charged @ 10 % for Plant & Machinery and @ 7% for Furniture

Required: Based upon above information, prepare Adjusting Entries, Adjusted Trail Balance and
Income Statement & Balance Sheet.

The Income Statement of the Abdul Rehman & Co for the year on December 31 (for each year 2015
& 2016) is given as under:

2016 2015
Sales Rs. 900,000 Rs. 800,000
Cost of goods sold Beginning inventory 43,000 40,000
Purchases 637,000 483,000
Goods available for sale 680,000 523,000
Ending inventory 70,000 43,000
Cost of goods sold 610,000 480,000
Gross margin 290,000 320,000
Operating expenses 248,000 280,000
Income before taxes 42,000 40,000
Income taxes 17,000 18,000
Net income 25,000 22,000
Plus: Retained earnings, beginning balance 137,000 130,000
Less: Dividends 0 15,000
Retained earnings, ending balance 162,000 137,000
Page 1 of 4
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ACCOUNTANCY AND AUDITING, PAPER-I

The Balance sheet of the Company as on December 31 for each year is given as under:

2015 2016
Assets Rs. Rs.
Cash 20,000 17,000
Marketable securities 20,000 22,000
Notes receivable 4,000 3,000
Accounts receivable 50,000 56,000
Merchandise inventory 70,000 43,000
Prepaid expenses 4,000 4,000
Property, plant & equipment (net) 340,000 310,000
Total assets 508,000 455,000
Liabilities and Stockholders’ Equity
Accounts payable 40,000 38,000
Salaries payable 2,000 3,000
Taxes payable 4,000 2,000
Bonds payable, 8% 100,000 100,000
Preferred stock, 6%, Rs100 par, cumulative 50,000 50,000
Common stock, Rs 10 par 150,000 125,000
Retained earnings 162,000 137,000
Total liabilities and stockholders’ equity 508,000 455,000

Required: Horizontal Analysis and Vertical Analysis for the above given financial
statements (Income Statement & Balance Sheet) of Abdul Rehman & Co. and comment on
the results.

Q. No. 4. (a) The XYZ Co. purchased a large machine 5 years ago at a total cost of Rs. 400,000. (10)
The accumulated depreciation on this machine is Rs. 290,000. The corporation sold the
machine at Rs.10, 000 gain.

Required: Calculate the amount would be reported as cash flow from this sale.

(b) On April 1, 1993 Ayesha Industries purchased new equipment at a cost of Rs. 325000. (10) (20)
Useful life of this equipment was estimated at 5 years, with a residual value of
Rs. 25000. For tax purposes, however, this equipment is classified as “3- year property”.
Required: Compute the annual depreciation expense for each year until this equipment
becomes fully depreciated under each depreciation methods listed below (Because you
will record depreciation for only a fraction of a year in 1993, depreciation will extend
through in all methods except MACRS) and show supporting computations.

i.  Straight —line, with depreciation for fractional years rounded to the nearest whole month.

ii. 20%-declining-balance method, with the half-year convention. Limit depreciation in
1998 to an amount which reduces the undepreciated cost to the estimated residual value.

iii. Sum-of-the-years’-digits, with the half-year convention

iv. MACRS accelerated rates for “3-year property”

SECTION-B

Q. No. 5. Proprietor (Owner) of ABC Industries has limited knowledge of Cost & Managerial Accounting who  (20)
prepared Income Statement for his business for the year ended on December 31, 2016 that is given as

under:
(Rs.) (Rs.)
Sales 675000
Less: Expenses
Direct Labour 137500
Indirect Labour 18000
Selling & Administrative Salaries 48000
Raw materials purchased 248500
Electricity bill 22500
Insurance expired 6000
Depreciation of factory equipments 33000
Depreciation of sales equipments 4500
Rent of Premises 75000
Advertising 81500 674500
Net Profit 500

The Owner has some doubts about the accuracy of the above statement and has requested you (as
Professional Accountant) to check over the statement and make necessary corrections based upon

following additional information.

@) 80% of the electricity bill, 75% of insurance expired and 70% of Rent of Premises associated
to Factory operations and the remaining amounts are applicable to Selling and Administrative

activities.
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ACCOUNTANCY AND AUDITING, PAPER-I

Q. No. 6.

Q. No. 7.

(i1) Beginning Inventory (January 1, 2016) and Ending Inventory (December 31, 2016) in Rs.
were:

Finished Goods 50000 60000
Work in Progress 42500 30000
Raw Material 7500 18000

(iii)  Factory overhead is applied @ Rs. 5 per machine hour. The total machine hours are 26400
during the year. Factory overhead variance is charged to cost of goods sold, finished goods
and work in process ending inventories.

Required:

(a) Prepare cost of goods manufactured and cost of goods sold statement indicating cost of goods
sold at normal and at actual.

(b) Prepare revised income statement

() Explain the reason for difference between net profit as per Owner’s Income statement and
revised statement (prepared by you).

(a) Delight Food Products produces Squash Cubes by continuous processing in three (10)
departments i.e. A, B and C. During November 2017 Department B received 8000
cubes from the Department A (preceding department) and transferred 5500 cubes to
Department C (next department). During the month there was a normal loss of 400
cubes at the end of process. Moreover, 600 cubes, 75% completed, were lost due to
negligence of a worker in the B department. There was no work in process beginning
inventory, the ending inventory was estimated as 60% completed. Following product
costs were charged to the department during the month of November:

Cost from preceding department Rs. 16400
Direct Material 2000
Direct Labour 3625
Factory Overhead 5075
27100
It is noticed that all materials are added at the start of process in Department B.
Required: Prepare the Cost of Production Report for the month of November, 2017(for
Department B).
(b) Ahmad Enterprises produces and sells the finest quality golf clubs in all of Clay County. (10) (20)

The company expects the following revenues and costs in 2017 for its Elite Quality golf
club sets:

Revenues (400 sets sold @ Rs. 600 per set) Rs. 240,000
Variable costs Rs. 160,000
Fixed costs Rs. 50,000

Required: How many sets of clubs (unit) must be sold for Ahmad Enterprises to reach
their breakeven point?

XYZ Enterprises applies factory overhead @ 60% of direct labour cost. During the year 2016
following actual costs were recorded:

(Rs.)
Direct Labour cost 580000
Factory Overhead cost 428000
At the end of the year following balances appear in the some of the Control Accounts:
Cost of Goods Sold 1750000
Finished Goods 500000
Work in Progress 250000
Required:
(1) Based upon above given information, determine under-applied or over-applied factory
overhead.
(i1) Pass general journal entry to close factory overhead applied account at the end of year.
(iii) Pass general journal entries to dispose off under applied or over applied factory overhead in

the following cases:

(a) The variance is considered as a significant amount

(b) The variance is considered as an insignificant amount

(c) The variance is considered as cause by poor scheduling of production and excessive
spending

Page 3 of 4
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ACCOUNTANCY AND AUDITING, PAPER-I

Q. No. 8. (a) Ayesha & Co. Prepared following estimates for the year 2017: (10)
Fixed factory overhead (in Rs) 450 000
Variable factory overhead (in Rs) 600 000
Direct labour hours 200 000
However, actual results for the cost for the year 2017 were recorded as follows:
Fixed Factory overhead (in Rs) 450 000
Variable Factory overhead (in Rs) 680 000
Direct labour hours 220 000
Required: based upon above given information, Calculate:
(1) Total Factory overhead variance
(i1) Capacity variance

(ii1) Budget variance

(b) Calculate the total fixed cost of the shipping department of Areeba & Co. based upon the (10) (20)
following information for the year 2016:

Salaries Rs.800,000 75 percent of employees on guaranteed
contracts

Packaging Rs.400,000 depending on size of item(s) shipped

Postage Rs.500,000 depending on weight of item(s) shipped

Rent of warehouse space Rs.250,000 annual lease
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FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION-2018
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

ACCOUNTANCY AND AUDITING, PAPER-II

Roll Number

TIME ALLOWED: THREE HOURS PART-I (MCQS)
PART-IMCQS): MAXIMUM 30 MINUTES | PART-II

MAXIMUM MARKS =20
MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.

(ii) Attempt ONLY FOUR questions from PART-II by selecting AT LEAST ONE question from

EACH SECTION. ALL questions carry EQUAL marks.

(iii) All the parts (if any) of each Question must be attempted at one place instead of at different

places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.

(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must

be crossed.

(vi) Extra attempt of any question or any part of the attempted question will not be considered.
(vii) Use of Calculator is allowed.

PART 11
SECTION — A (AUDITING)

Q. No. 2. How an internal control system helps the management in conduct of their business affairs?
Explain the difference among internal check, internal audit and internal control.

Q. No. 3. ABC Company is an audit and assurance firm, which has recently accepted the audit of XYZ.
Explain the purpose of auditing financial statement of XYZ and the three elements of audit
risk faced by the company.

Q. No. 4. Due to the inherent limitations of audit, auditors are only able to offer 'reasonable assurance'
over the truth and fairness of the financial statements rather than absolute assurance. Keeping

in view the above statement, explain the limitation of audit of financial statement.

SECTION — B (BUSINESS TAXATION)

Q. No. 5. (A) Explain the law regarding the definition of business and taxability of business income (10)
along with the relevant examples under section (18) of Income Tax Ordinance 2001.
(B) Mr. Atif is working as Chief accountant of a multi-national company. He received (10)

the following income during the tax year 2017. He is a non-filer.

Basic Salary Rs. 12,00,000
Bonus 300,000
House Allowance 500,000
Conveyance Allowance 200,000
Utilities Allowance 100,000
Zakat Paid 180,000
Capital gain on sale of securities 70,000
(holding period more than 12 months but less than 24 months)

Agricultural Income 400,000

Required: Calculate his tax payable.

Q. No. 6. (A) What is the scope of sales tax? What is the procedure for transfer of registration and (10)
deregistration under Sales Tax Act, 1990?

(B) Mr Abdul Packages Ltd is a registered manufacturer of candies. Data regarding his (10)

business is given below:

Taxable turnover to registered person Rs. 5,000,000
Taxable turnover to non-registered person 18,000
Sales to retailers 50,000
Exempted sales 60,000
Supplies to DTRE registered person 25,000
Zero rated supply 70,000
Supplies donated 150,000
Taxable purchases from registered person 200,000
Taxable purchases from non-registered person 90,000
Taxable Purchases from wholesaler 60,000
Imported raw material specified in SRO 644(1) 2016 100,000
Sales tax paid on PTCL dues 9,000
Sales tax paid on electricity bill 3,000

Required: Calculate the sales tax liability for July 2016

Tojoin the career community go to www.examoo.com
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ACCOUNTANCY AND AUDITING, PAPER-II

Q. No. 7.

Q. No. 8.

A

(B)

A)

(B)

SECTION-C (BUSINESS STUDIES AND FINANCE)

Information technology is perceived as an important source of future economic
prosperity and employment growth. Explain the role of information technology in
business organisation in Pakistan’s scenario.

You have been hired as a financial advisor to Raheel Abbas. He has received two
offers for playing professional basketball and wants to select the best offer, based on
considerations of money only. Offer A is a Rs.10m (offer for Rs.2m a year for 5
years). Offer B is a Rs.11m (offer of Rs.1m a year for four years and Rs.7m in year 5).
Required: Calculate the present value of each contract by assuming a range of
interest rate (8% - 14%). What is your advice regarding the contracts.

Define financial markets and explain the features and classification of financial
markets.

ABC Company is considering a new product line to supplement its range line. It is
anticipated that the new product line will involve cash investment of Rs.700,000 at
time 0 and Rs. 1.0 million in year 1. After tax cash inflows of Rs. 250,000 are
expected in year 2, Rs 300,000 in year 3, Rs. 350,000 in year 4, and Rs. 400,000 each
year thereafter through year 10. Through the product line might be viable after
year 10, Company prefers to be conservative and end all calculations at that time.

Required: (a) if the required rate of return is 15% what is the net present value of the

project. Is it acceptable?

(b) What is its internal rate of return?
(¢) What would be the case if the required rate of return was 10%?

LR R R R R
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FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION-2018
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

Roll Number

AGRICULTURE & FORESTRY

TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-I(MCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.

(ii) Attempt ONLY FOUR questions from PART-II by selecting TWO questions from EACH
SECTION. ALL questions carry EQUAL marks.

(iii) All the parts (if any) of each Question must be attempted at one place instead of at different
places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.

(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.

(vi) Extra attempt of any question or any part of the attempted question will not be considered.

PART - 11
SECTION - A

2. Global warming is one of the major threats to food security. What priority measures, in (20)

short and long terms, do you suggest to mitigate the negative impacts and to use the
benefits of climate change on different agricultural sectors? Give examples where
necessary.

.3. Pakistan is suffering from serious edible oil deficit. Suggest a strategy integrating (20)

agricultural sciences and the Government to improve the present situation.

.4, Discuss bio-fortification. How is it helpful to provide basic human nutrition needs and (20)

to combat with malnutrition? Explain with examples.

5, Biotechnology offers several opportunities for crop genetic improvement to meet the (20)

present and future challenges. Discuss with suitable examples.

SECTION -B

. 6. Green fodder is an excellent and the cheapest source of nutrition to livestock in (20)

Pakistan, but it is not available in enough quantities. Many rangelands are present in
Pakistan, how these could be used to improve the availability of the green fodder.

=7 Forest area in Pakistan is not according to the international standards. What public and (20)

government can do to improve forests area in Pakistan? Discuss in detail.

. 8. Discuss the current situation and suggest prioritize strategies to improve forest based (20)

wildlife in Pakistan
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FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION-2018
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

Roll Number

ANTHROPOLOGY

TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-I(MCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.

(ii) Attempt ONLY FOUR questions from PART-II. ALL questions carry EQUAL marks.

(iii) All the parts (if any) of each Question must be attempted at one place instead of at different
places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.

(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.

(vi) Extra attempt of any question or any part of the attempted question will not be considered.

PART-I1

Q. No. 2. Define anthropology. How is it different form other fields of Social Sciences in terms  (20)
of approach and methodology?

Q. No. 3. Discuss the issue of objectivity and subjectivity in the field of social research. Explain  (20)
whether or not objective research is attainable in social anthropology.

Q. No. 4. Culture develops in response to the basic needs of human beings. Explain. (20)

Q. No.5. Economics systems evolved through reciprocity to redistribution and market system.  (20)
Explain.

Q. No. 6. Religion is a significant commonality in Pakistani Culture. How sectarianism can be  (20)
controlled to use religion for national integration?

Q. No.7. Elaborate different types of kinship systems. Kinship affect political allegiances in  (20)
Pakistan. Explain.
Q. No. 8. Write short notes on any FOUR of the following: (5 each) (20)
(a) Rural-urban migration
(b) Participant observation
(¢) Types of family
(d) Main branches of anthropology
(e) Cultural relativism

(f) Applied anthropology and community development
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FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION-2018
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

Roll Number

APPLIED MATHEMATICS

TIME ALLOWED: THREE HOURS MAXIMUM MARKS =100

NOTE:(i) Attempt ONLY FIVE questions. ALL questions carry EQUAL marks
(i) All the parts (if any) of each Question must be attempted at one place instead of at different
places.
(iii) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.
(iv) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.
(v) Extra attempt of any question or any part of the attempted question will not be considered.
(vi) Use of Calculator is allowed.

Q.No.1. (@ 1f y= Sin@, then show that Vzl// + k2'7” =0. (10)
r

T
(b) Calculate the Line Integral [ .A.dr, where A =—§}—l—)—;]—, and the curve C is (10)
X“+y

given by the equations x>+ y>=a® and Z=0.

Q.No.2. (a) Forces of magnitude P, 2P, 3P, 4P act respectively along the sides AB, BC, CD, (10)
DA of a square ABCD, of sides a, and forces each of magnitude (8\/5 ) P act

along the diagonals BD, AC. Find the magnitude of the resultant force and
distance of its line of action from A.

(b) A uniform ladder, of length 70 feet, rests against a vertical wall with which it  (10)
makes an angle of 45°, the coefficient of friction between the ladder and the wall

and the ground respectively being % and % . If a man, whose weight is one half

that of the ladder, ascends the ladder, where will he be when the ladder slips?

Q.No.3. (a) A particle moves in a straight line with an acceleration kv’. If its initial velocity is  (10)
u, find the velocity and the time spent when the particle has travelled a distance

x.
(b) Derive the Tangential and Normal components of the velocity and acceleration. (10)
Q.No.4. (a) Solve the following Cauchy- Euler Equation (10)
xzd—2y—2xd—y—4y =0,
dx? dx

(b) Convert the following Bernoulli Differential Equation into standard form and  (10)

then solve.
1
dy xy 2
+ =xy“ .

Q.No.5. (a) Convert the following Ordinary Differential Equation into standard form and then  (10)
solve using Method of Variation of Parameters.

x*y"=3xy' +3y =2x"e"

(b) Check whether the following Ordinary Differential Equation is an Exact Equation  (10)
or not. If yes, then solve.

(Bx%y+2)dx+ (x> +y)dy=0

Page 1 of 2
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APPLIED MATHEMATICS

-No.6. (a ind the Fourier Series o on the given interval.
Q.No.6. (a) Find the Fourier Series of he given i 1
) -1, —-7m<x<0
X)=
I, 0Zx<nm
(b) Solve the following Partial Differential Equation subject to the conditions given.
2 2
26_328_124, 0<x<L, t>0,
ox ot
u(0,¢)=0, u(L,t)=0, t>0,
- O . B
uQﬁD—f(@,Ef—gtwhnnmet—OL and 0<x<L.
Q.No.7. (a) Use Newton-Raphson method to find solution accurate to within 10 for the non-
linear equation.
x° —2x*-5=0, 1 =[1,4]
(b) Use Lagrange Interpolating polynomial of degree two to approximate f(8.4), If
f(8.1)=16.94410, f(8.3)=17.56492, f(8.6)=18.50515, f(8.7)=18.82091.
. Iodx . ; .
Q.No.8. (a) Approximate _[0 s using Trapezoidal rule and Simpson’s rule with n=4.
X
Also compare your results with the exact value of the integral.
(b) Use Euler’s method to approximate the solution of the following initial value
problem.
1+ :
y'=Ty, 1<1<2, with y(1)=2, h=0.25
sk sk sk sk s sk sk skosk ke sk sk skosk sk sk
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION-2018 Roll Number
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT
ARABIC
TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS = 20
PART-IMCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.

(ii) Attempt ONLY FOUR questions from PART-II. Answer must be written in respective
language except where specified in the question paper. ALL questions carry EQUAL marks.
(iii) All the parts (if any) of each Question must be attempted at one place instead of at different

places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.
(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must

be crossed.

(vi) Extra attempt of any question or any part of the attempted question will not be considered.

PART — 11
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=—= BALOCHI
TIME ALLOWED: THREE HOURS /PART-l (MCQs) MAXIMUM MARKS =20
PART-{MCQs): MAXIMUM 30 MINUTES PART-I MAXIMUM MARES = 80
NOTE: {i} Part-ll is to be atlempled on the separale Answer Book.,
{if) Attempt ONLY FOUR questions from PART-NI. Answer must be writlen in respactive language excep!
where specified in the question paper. ALL questions carry EQUAL marks
(s} AN the parts (if any) of each Question must be attempted at one place insiead of at different places
(v} Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q. Paper.
(v} Mo Page/Space be left blank between the answers. All the blank pages of Answer Book must be crossed.
(vi) Extra atempt of any question or any part of the attempted guestion will not be considered
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The Novel tells a story that is the fundamental aspect without which it could not exist that is ()
the highest factor common to all novels. The nature of characters pulls what they do, Pulls
what happens to them as a result of their actions, plus whey they do what they do equals

the theme of a story
(10) ()
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FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION-2018
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

Roll Number

BOTANY

TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-I(MCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.

(ii) Attempt ONLY FOUR questions from PART-II. ALL questions carry EQUAL marks.

(iii) All the parts (if any) of each Question must be attempted at one place instead of at different
places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.

(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.

(vi) Extra attempt of any question or any part of the attempted question will not be considered.

PART-II
Q. No. 2. Discuss biological and economic importance of Fungi. (20)
Q. No. 3. Describe main features of Gymnosperms and explain life cycle of Pinus. (20)
Q. No. 4. What are main types of Pollution? What may be the measures for its control? (20)

Q. No.5. Explain CAM Photosynthesis contrasting it to C4 Photosynthesis in terms of (20)
partitioning of a pathway.

Q. No. 6. What are the evidences in support of Evolution? What contributions modern genetics  (20)
has made for its support?

Q. No.7. What is the evidence for semiconservative replication of DNA? (20)

Q. No. 8. Write short notes on the following: (5 marks each) (20)
(a) Ultrastructure of cell membrane
(b) Speciation
(¢) Vernalization

(d) Classes of Algae
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FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION-2018
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

Roll Number

BRITISH HISTORY

TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-IMCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.

(ii) Attempt ONLY FOUR questions from PART-II by selecting TWO questions from EACH
SECTION. ALL questions carry EQUAL marks.

(iii) All the parts (if any) of each Question must be attempted at one place instead of at different
places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.

(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.

(vi) Extra attempt of any question or any part of the attempted question will not be considered.

PART — 11
SECTION — A

Q. No. 2. What did lead to the occurrence of Ultra-degree of mega development towards 20)
the close of 17" century A.D. in Britain known as “Glorious Revolution™?

Q. No. 3. “The 18" century A.D. witnessed the Emergence, Rise and Growth of the two (20)
Movements (Agrarian and Industrial) which revolutionised the lives of the
English people in particular and later on, of the world in general.” Comment on
the statement.

Q. No. 4. Shed ample light on the Interior as well as Exterior policy of Sir Robert Peel as (20)
British Premier with particular emphasis on Irish issue.

Q. No. 5. What measures were taken for the Democratisation of British Parliament round (20)
the decades?

SECTION-B

Q. No. 6. How Britain put a halt to “The policy of Splendid Isolation”? What were its (20)
positive and negative aspects?

Q.No.7.  Why it is believed by certain circles that after Decolonisation, Britain has been (20)
subservient to US-Line of Action during Cold War and thereafter down to 9/11
and subsequent years? Do you agree or not? Argue.

Q. No. 8. Write short Notes on any TWO of the following: (10 each) (20)
(a)  Sir Winston Churchil
(b)  Britain’s role in EU
(c) Lady Diana
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NOTE: (i) Part-II is to be attempted on the separate Answer Book.
(ii) Attempt ONLY FOUR questions from PART-II. ALL questions carry EQUAL marks.

(iii) All the parts (if any) of each Question must be attempted at one place instead of at different

places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.
(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must

be crossed.

(vi) Extra attempt of any question or any part of the attempted question will not be considered.
(vii) Use of Calculator is allowed.

PART —1I
Q. No. 2. Daud Tools, a manufacturer of lathe tools, is currently selling a product for $10 per (20)
unit. Sales (all on credit) for last year were 60,000 units. The variable cost per unit is
$6. The firm’s total fixed costs are $120,000.
The firm is currently contemplating a relaxation of credit standards that is expected to
result in the following; a 5% increase in unit sales to 63,000 units; an increase in
average collection period from 30 days (the current level) to 45 days; an increase in bad
debt expenses from 1% of sales (current level) to 2%. The firm determines that its cost
of tying up funds in receivables is 15% before taxes.
Question: Determine whether it would be profitable for Daud Tools to relax its credit
standards. To arrive at your decision, show the calculation of;
(a) Additional profit contribution from sales
(b) Cost of marginal investment in account receivables
(©) Cost of marginal investment in bad debts
Q. No. 3. ABC Industries 20)

Balance sheet ending December 31, 2016

Liabilities and

Assets 3 stockholder’s Equity §
Cash 32,720 Accounts Payable 120,000
Marketable securities 25,000 Notes payable ~  ——-emmemme-
Accounts receivable =~ ——-me——- Accruals 20,000
Inventories = —eememeee- Total current liabilities =~ ------------
Total current assets ~ -—---—--—- Long-term debt ~  ----emmeeo-
Net fixed assets ~ ———--mmm-- Stockholder’s equity 600,000
Total assets ~ —emmeeeeee Total liabilities and

stockholder’s equity ~  ----------
The following financial data for 2016 is also available;
(a) Sales totalled $1,800,000.
(b) The gross profit margin was 25%.
(©) Inventory turnover was 6.0.
(d) There are 365 days in the year.
(e) The average collection period was 40 days.
6y} The current ratio was 1.60.
(2) The total asset turnover ratio was 1.20.
(h) The debt ratio was 60%.
Complete the 2016 balance sheet for ABC Industries using the given information.
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Q. No.

Q. No.

Identify the major drivers of supply chain performance. Discuss the role each driver
plays in creating strategic fit between supply chain strategy and the competitive
strategy. Define the key metrics that track the performance of the supply chain in terms
of each driver.

Brand positioning is the act of establishing a distinctive image of a product or offering
in the minds of customers. How do marketers analyse competition and differentiate
their products for successful positioning?

How do consumers process and evaluate prices? What is the 5-step process of setting
the initial price for products or services? When and how should a company initiate a
price change, i.e. introduce a price cut or price increase?

Organizational structures are designed in two major forms; traditional and
boundaryless organizations. Discuss their different types, characteristics as well as their
relative advantages and disadvantages, in comparison to each other.

What is Training Needs Analysis (TNA), why is it important to conduct it, and what
should it evaluate? What are the types of training methods and which training method
should be employed for each type of training needs?
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CHEMISTRY, PAPER-I

TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-IMCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-1I is to be attempted on the separate Answer Book.
(ii) Attempt ONLY FOUR questions from PART-II. ALL questions carry EQUAL marks.
(iii) All the parts (if any) of each Question must be attempted at one place instead of at different
places.
(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.
(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.
(vi) Extra attempt of any question or any part of the attempted question will not be considered.
(vii) Use of Calculator is allowed.

PART-II

Q.No.2. (a). Explain de Broglie’s hypothesis and derive its equation. How Davisson and  (10)
Germer proved the dual nature of electron?

(b). Explain transport number. How it can be determined by Hittorf ’s method for Ag"™  (10)
ions in AgNOj solution?

Q. No. 3. (a). Explain the working of quinhydrone electrode. S)

(b). Calculate the standard heat of formation of propane (C;Hg) if its heat of  (5)
combustion is —2220.2 kJ mol™". The heats of formation of CO,(g) and H,O())
are —393.5 and —285.8 kJ mol ' respectively.

(c). Describe the criteria of spontaneity of a chemical process. Explain in terms of ~ (10)
change in entropy, enthalpy and free energy with derivation of necessary
equations.

Q. No.4. (a). Discussthe factors which can affect the rate of a chemical reaction. S)

(b). Explain Arrhenius equation. Discuss Arrhenius concept of activation energy and  (8)
explain it by graphical representation.

(¢). Explain enzyme catalysis with examples. Also give some characteristics of this  (7)
catalysis.

Q. No.5. (a). What are colloids? How are they classified? Describe how colloidal solution of  (8)
sulphur can be prepared?

(b). What is meant by confidence limits? Seven replicate analysis for mercury in 7
natural gas condensate gave following results in ng/mL:
2] . Jwal i a el Q2 | . S Lesasndd B 24 o0
Calculate the 95% and 99% confidence limits for these measurements.

(c). Explain Ry value. Suppose that components of a mixture are separated by paper 5)
chromatography using a non-polar solvent like hexane. Describe and explain
how the polarity of a compound in the mixture will affect its R¢ value?

Q. No. 6. (a). What is electrophoresis? Explain its working principle and describe its different )
applications as a separation and characterization technique.

(b). Explain the paramagnetic behavior of O, molecule on the basis of molecular  (6)
orbital theory. Explain why the existence of He, molecule is not possible on the
basis of MOT?

(¢). Explain the molecular shape of [Ni(CN)4]*~ with the help of valence bond theory. (7)
Also discuss its magnetic behaviour.
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CHEMISTRY, PAPER-I

Q. No.7. (a). Using VSEPR theory, identify the type of hybridization and draw the structure of 5)
OF,. What are oxidation states of O and F?

(b). A buffer of pH 9.26 is made by dissolving x moles of ammonium sulphate and  (5)
0.1 mole of ammonia into 100 mL solution. If pK, of ammonia is 4.74,

calculate the value of x.

(¢). Explain soft and hard acids and bases (SHAB) concept with examples. How is it (10)

able to explain the stability of complexes and reaction rates?

Q. No.8. (a). Explain crystal field theory. How it differs from valence bond theory? Also  (10)

explain crystal field splitting. How crystal field stabilization energy of a complex

is calculated?

(6))

(b). Write systemic names of following compounds.

K4[NiFs], K;3[Fe(CN)s], [Co(NH3)4CL]Cl, K[PtClg], Ko[Cu(CN)4]

(c¢). Write the coordination number and oxidation state of the metal ion in each of the ~ (5)

above stated complexes.
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TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-IMCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.

(ii) Attempt ONLY FOUR questions from PART-II. ALL questions carry EQUAL marks.
(iii) All the parts (if any) of each Question must be attempted at one place instead of at different

places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.
(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must

be crossed.

(vi) Extra attempt of any question or any part of the attempted question will not be considered.

PART-II
Q.No. 2. (a) Define Resonance and Resonance effect. (10)
(b) Write Short note on followings. (5+5) (20)
(1) Tautomerism (i1) Hyperconjugation.
Q.No. 3. (a) Complete the following reactions. (8x2=16)
(1) CH3-CH:CH2 == KMl’lO4 Hzo S ?
(il) CH3-CH=CH, + NiA
Pressure
@y n@EEcEH—EME -2 i3S O e sz s
Q@
(iv) CH3;-CH=CH, + CH; - C-H——>
(v) CH;-CH=CH, + Br, CCl4 5
(vij CH3;—-C=CH;+ Na/lig NHs
(vi) CH=CH+NaNH; —>
(viii) CH=CH + H;0 H,S04 / HgSO4
(b) 1-Butyne forms a precipitate with an ammonical solution of silver
nitrate where 2-Butyne does not. Why? 4) (20)
Q.No. 4. Explain electrophilic substitution reaction mechanism with the help of:
(1) Nitration (i1) Sulphonation. (20)
Q.No. 5. (a) Distinguish between: (4x3=12)
(1) Configuration and conformation
(i1) Enantiomer and Diastreomers
(ii1))  R. Convention and S. Convention
(b) Define specific rotation. How do you measure using polarimeter? &) (o0
Q.No. 6. (a) What do you mean by the setting of cement. (10)
(b) Discuss future of cement industry in Pakistan. (10) (20)
Q.No. 7. (a) Explain Aldol condensation reaction with examples. (10)
(b) What are proteins? (5)
(©) Explain Bio synthesis of cholesterol. (5)
Q.No. 8. Explain the following: (4 marks each) (20)
(a) Beers Lamberts Law. (b) Wood Wards Fieser Rule
(c) Hooks Law (d) Basic principle of NMR?

(e)  Chemical Shift.
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TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-IMCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.
(ii) Attempt ONLY FOUR questions from PART-II by selecting TWO questions from EACH
SECTION.
(iii) All the parts (if any) of each Question must be attempted at one place instead of at different places.
(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.
(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must be crossed.
(vi) Extra attempt of any question or any part of the attempted question will not be considered.

PART-II
SECTION-I

Q. 2. (a) How many layers are in the TCP/IP stack? What are the names? 4)

(b) How digital evidences can be preserved from a crime scene. Write in details by taking 4)
examples of digital devices commonly used these days.

(¢) What are the responsibilities of Operating system kernel? A3)
(d) List down any four best practices for coding standards. 3)
(e) Why do modern processors use more power when their clock frequency is increased? )

(f) Ali is telling Ahmad that he is representing a -ve number and its most significant bit is 1, 2)
Ahmad immediately shouted you are representing numbers using 2's compliment. True
or False. And why?

(g) If time slice is of 50 milliseconds and context switch requires a microsecond, how many @)
processes can the machine service in a second?

Q.3. (a) Write a program grade average calculator, User will input marks for five subjects and 5)
program will output the average of its marks. Print appropriate message on the base of
its mark's average e.g.; Well done, Keep it up, Better luck next time etc.

(b) Given that i,j,k,n & m are integer variables. Write a condition such that: )
i- hello is only printed when, any of the following conditions are met: i is twice
the value of j, j is smaller than k and less than n, or m is negative.
TIFET PASREKER, ™ O 501 S SEESSg PRSI ST
if( )
cout<<”hello”;

11. hello is only printed when 1 does not lies in the interval 6-9
FE Py med > 1y
1E( )
cout<<“hello”;

(¢) Write equivalent instruction to following instruction without the use of += operator: a
where w,z are integers.
wH+=2*z+4;

(d) Predict the values of variables a & b after every instruction ()
integer a=5 b=6
a=(b++) + 3;
b=--a;

(e) Complete the code such that it prompts the user for +ve number n. Then displays the (5)
output.(whatever the value of n is)(HINT: instead of triangles of stars its triangles of
increasing numbers)[marks
1234 . . .n
1234 ..n-1
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=4 it will print
4

P
N NN R
w w3

void main ()

{
int n; cin>>n;
// your loops will go here

}

() In following code replace the character at pos™ location in the string st with the ,character
ch. For example in string helloworld replacing 2nd character with i would result in

hilloworld
void main( )
{char st[15];
int size=0;
cin>>st;
cin>>pos>>ch;
while (st[size]!="\0")
{
size++;

}

// write your code here

int pos; char ch;

)

// calculating length of current string

Q. 4. Consider the inheritance hierarchy shown below. Each part of this question is independent.

i

/N

(a) In which class(es) would it make most sense to have protected members? Which class(es)
would be able to access those protected members directly?

(b) Which class(es) can access private members of class C directly?

(¢) Suppose class C contains a pure virtual function. Suppose we wish to instantiate objects of

this hierarchy. Which class(es) are or could be abstract and which are concrete?

(d) Consider the following list of classes: Car, SteeringWheel, Vehicle, Van, Minivan,
AudioSystem, Parkinglot. Your task is to describe all of the is-a and has-a relationships
between these classes. Include an inheritance hierarchy for all classes that fit. Fill in the
table with is-a or has-a relationship while leaving the cells empty where no relation is

applicable.
. Mini | Steerin Audio | Parkin
Yemicle, CaL cfandiB | woygy Wheelg System | Lot °
Vehicle
Car is-a
Van
Mini Van
Steering Wheel
Audio System
Parking Lot
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COMPUTER SCIENCE, PAPER-I

SECTION-II
Q.5. (a) What is dangling pointer? A
(b) What data structure would employ to build a text editor and why? 5)
(¢) Random insertion of nodes into a binary search tree would result in what types of tree (7

shape. Elaborate.

(d) How would you modify a link list based queue so that first and last node can be accessed  (5)
in a constant time regardless of data nodes in the queue?

Q. 6. (a) Define balanced tree both for AVL and Binary search tree. 4)

(b) What is informed or heuristic search what type of algorithm is used to do such a search? (6)

(c) Differentiate between graph and trees. Which is special case of the other? )]
(d) Explain what type of problems can be solved by genetic algorithm. 5)
Q.7. (a) Outline the difference between software verification and software validation. )
(b) Give an outline of the unit testing process for verification. ()
(c¢) Agile Development is a process that values responding to change over following a plan. 4)

Discuss three issues a Software Engineer should be mindful of when adopting this
approach during software development.

(d) What type of project is not suited to incremental methods? “)
(e) Outline the difference between Black box and White box testing. C))
Q. 8. (a) What is the difference between lexers and parsers? 5)
(b) Write a grammar (BNF) for the language of palindromes. 5
(¢) Here DFA is given for the language L find the DFA for L* 5
a a, b
¥ e Pl
N T a b+ )
e i \ Iy '\.I.I I ¥ ._:_ _._.l"
Stat ——\ Qo /—/ "\ 41— "\ 42
o L S e
(d) Convert the following DFA to a RE: (©))

sk s s sk sk sfeosk sk s skeosk sk sk

Page 3 of 3

To join the career community go to www.examoo.com



FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION-2018
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

Roll Number

COMPUTER SCIENCE, PAPER-II

TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
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